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POLITICAL SCIENCE
PAPER —1I

Note : This paper contains fifty (50) objective-type questions, each question carrying

two (2) marks. Attempt all of them.

The central idea in Plato’s Republic is :
(A)  Liberty (B)  Equality (© Harmony (D) Justice

Who, among the following, defined Liberty as “a positive power or capacity of doing or enjoying
something worth doing or enjoying’ ?
(A)  Bentham (B) Mil (©  Green (D)  Barker

“The very essence of democracy is that a free person represents all the varied interests which compose
the nation. Itis true that it does not exclude and should not exclude special representation of special
interests, but such representation is not its test”.

This statement was made by :

(A)  Ambedkar (B) Gandhi (©  Nehru (D) Jay Prakash Narain
The view that political theory is in a “state of decline” was strongly opposed by :

(A) David Easton (B)  Cobban (©  Isaiah Berlin (D) Germino

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R) :
Assertion (A): Imperialism is the highest stage of capitalism.

Reason (R): Imperialism leads to nationalist movements.

In the context of the two statements which one of the following is correct ?
(A)  Both (A)and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
©  (A)istruebut (R)is false

(D) (A)isfalse but (R)is true

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Assertion (A): It is better to be a Socrates dissatisfied than a fool satisfied.

Reason (R): Quality of pleasure is no less important than quantity

In the context of the two statements, which one of the following is correct ?

(A)  Both (A)and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A)and (R) are true, but R is not the correct explanation of (A)

©  (A)istruebut (R)is false

(D) (A)isfalse but (R)is true

Arrange the following books in order in which they appeared. Use the code given below :

L ‘The Prince’

IL. ‘Leviathan’

M.  ‘OnLiberty’

IV. /A Theory of Justice’

Code:

A  LILIV,I (B) LILILIV © ILLIV,II D) L1V, LI

Arrange the following concepts in order in which they appeared. Use the code given below :

L Surplus Value

IL Mandal theory of International Relations

II.  General Will

IV.  One-Dimensional Man

Code:

@4 LILILIV By HOLILIV,I © LIOLLIV O) 1V, LI,
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9. Match List I with List IT and select the correct answer from the codes given below :
List-I (Ideas) List - IT (Thinkers)

(@). ‘Forced to be free’ (@) Bentham
(b). ‘Base-superstructure’ @i JS.Mil
(). ’Libertarianism’ (iii) Rousseau
(d). ‘Greatest happiness (iv) Nozic

of the greatest number’ (v)  Marx

Code: @ @® © @
@ O © v @

® i) © @ 0
© G @ @ 0
O O @ G ()
10.  Match List I with List Il and select the correct answer from the codes given below :
List -1 (Books) List - II (Authors)
(@). Human Nature in Politics @) Charlesworth
(b). Modern Political Analysis (i) David Easton
(). Contemporary Political Analysis (iii) Arnold Brecht
(d). Political Theory: The Foundations (iv) Graham Wallas
of Twentieth Century (v)  Robert Dahl
Political Thought.
Code: @ ®m (o (d)
@ @ © 0 G
® @ @ (O G

(=

(
© o @ 3G @)
@ @ O W

—

11.  Which of the following approaches falls within traditional approach ?
(A)  Marxist (B)  Structural - Functional (C) Juristic (D)  Systems

12.  Which one of the following is not an element of Political Development ?

(A)  Equality (B)  Differentiation
(©  Property (D) Capacity
13.  Pareto is associated with :
(A)  Organizational theory of Elite (B)  Economic theory of Elite
(©  Psychological theory of Elite (D)  Pluralist theory of Elite

14. ‘Contradiction’” as the cause of revolution is associated with :
(A)  Psychological theory of Revolution ~ (B)  Marxist theory of Revolution
(©  Maoist theory of Revolution (D)  Debray’s theory of Revolution

15.  Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Assertion (A): The essential feature of constitutionalism is limited government
Reason (R): Government is limited by interest groups
In the context of the two statements which one of the following is correct ?
(A)  Both (A)and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A)and (R) are true, but (R) is not the correct explanation of (A)
©  (A)istruebut (R)is false
(D) (A)isfalse but (R)is true

J—0205 4
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11.

12.

13.

14.

15.
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16.  Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Assertion (A): U.K. has a plural executive
Reason (R): Head of state is different from Head of the government in U.K.
In the context of the two statements which one of the following is correct ?
(A)  Both (A)and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A)and (R) are true, but (R) is not the correct explanation of (A)
©  (A)istruebut (R)is false
(D) (A)isfalse but (R)is true

17.  Arrange the following ideas/ concepts in order in which they appeared. Use the code given below.
L Class - in itself and class - for - itself
IL Encoding
IIl.  Circulation of Elites
IV.  Perestroika

@A I I m v ® I m I I\Y%
© 1 I m v ®y Iv. m I I
18.  Arrange the following books in order in which they appeared. Use the code given below.
L Public Opinion and American Democracy
IL Modern Democracies

II.  Fedral Government (K.C.Wheare)
IV.  Comparative Government (Finer)
Code:

A 1 1 m v ® m 0 IV I
© m v I I ® oI v I I

19.  Match List I with List Il and select the correct answer from the codes given below :
List-1 List-1II

(@)  Political Development @) Huntington
(b)  Political Culture (i) Apter
(© Politics of Modernization (iii) Almond
(d)  Political Decay (iv)  Verba
) Riggs

Code: (@) (b) (0 (d)

(A) @) @Gv) @) ()

B) (v) () (@) (@)

© @ G O

O @) @) @ 0
20. Match ListI with List Il and select the correct answer from the codes given below :
List- I (Scholar) List - I (Concepts)

(@) Pareto 6] Pluralist theory of democracy
(b)  Lenin (i) Idealisttheory of democracy
() Green (i) Greek theory of democracy
(d)  Eckstein (iv)  Elitist theory of democracy
(v)  Marxian theory of democracy

Code: @ ® © @

@ @ G @ 0

® @ © @ 0

© © ) @@ G

© i) @) @ G
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21.

22,

23.

24.

25.

26.

The author of “An Introduction to the Indian Constitution” is :

(A)  AN.Palkhiwale (B)  B.ShivaRao

(©  Dr.B.R. Ambedkar (D) D.D.Basu

In the context of State autonomy documents, identify the correct order from the codes given below :
I Akali Government Memorandum to Sarkaria Commission

I Rajamannar Committee Report

I  Srinagar Conclave Resolutions
IV West Bengal Government Memorandum

Code:
A I 1l v I ® v I I I
© I v I I Oy 1 I\Y% I I

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Choose the correct answer from the codes given below :
Assertion (A): Equality before law is not applicable to the President of India
Reason (R): The President of India enjoys special privileges under the Constitution of India
Code: (A)  Both (A)and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A)and (R) are true, but (R) is not the correct explanation of (A)

©  (A)istruebut (R)is false

(D) (A)isfalse but (R)is true

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Choose the correct answer from the codes given below :

Assertion (A): Indian Constitution is federal in name only

Reason (R): Federalising process weakens the union and strengthens the states

(A) Both (A)and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A)and (R) are true, but (R) is not the correct explanation of (A)

©  (A)isfalse but (R)is true

D) (A)istruebut (R) is false

Match List [ with List IT and select the correct answer from the codes given below :

List-1I List-1II
(@  Government of India Act 1935 @) Rule of Law
(b)  Constitution of Britain (i)  Federal Scheme
()  Constitution of USA (iii) Directive Principles of State Policy
(d)  Constitution of Ireland (iv) Independence of Judiciary

Code: (a) b)) (o) (d)
@ @ 0 ) W
B G) @ o v) (i)
© @) (@Gv) (@) @)
O) Gv) (@) @) @)

Match List I of states with List Il of present leaders and select the correct answer from the codes given
below :

—

List-1 List-1I
(@ Maharashtra (i)  Mahinder Singh Tikait
) Uttar Pradesh (i)  Ajmer Singh Lakhowal
(© Haryana (iii) Sharad Joshi
(d)  Punjab (iv)  Ghasi Ram Nain
Code: @ @M (o (d)

@ G w0 G

® ) i) @) )

© @ O @

O i) O @ G
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

The chief source of political power in India is :

(A)  The Constitution (B)  The Parliament

(©  ThePeople (D) Parliament and the state legislatures
‘Drain of Wealth Theory” was propounded by :

(A)  FerozShah Mehta (B) M.N.Roy

(©  Dadabhoy Naoroji (D)  Surendranath Bannerjee

The present constitution of India contains
(A) 395 Articles and 9 Schedules ~ (B) 395 Articles and 12 Schedules
(© 372 Articles and 12 Schedules (D) 370 Articles and 7 Schedules

Identify the correct chronological order in which the following states of India were created :

L Maharashtra IL Andhra Pradesh M.  Punjab IV.  Nagaland
@a I I m v B 1 il v

© I I m v O m I v I

The Human Relations Theory of organisation focuses on :

(A)  Formal organisation (B)  Specialisation

(©  Informal Groups (D)  Red-Tapism

The Thinker who included intelligence design and choice activities in the decision making process
is:

(A) Dwight Waldo (B)  HerbertSimon

(©  HenriFayol (D)  Chestar Barnard

The Fulton Committee Report of 1968 was concerned with reforms in the personnel administration
of :

(A)  France (B) Japan © USA. (D)  United Kindgom

Max Weber's ideas on patrimonial bureauoracy are different from those of rational type in respect of :
(A)  contractually appointed men (B) officials appointed on merit basis

(©  unfree officials (D)  hierarchy of technical experts

The Estimates Committee of The Indian Parliament does not :

(A)  Examine whether the money is well laid out within the limits of the policy.

(B)  Examine that the money spent on the services on purposes for which it was made available on
for which it was charged.

(©  Suggesteconomy and improvement in organisational efficiency.

(D)  Suggestalternative policies for bringing efficiency and economy in administration.

The Institution of Ombudsman originated from :
(A)  Denmark (B) Sweden © UK (D) USA.

Match List I with List II, by using the codes given below :
List-1I List-1I
(@ MaxWeber (
(b)  L.Urwick (
(0  Martin Albrow (
(d)  Micheal Crojier (
Code: @ ®m (o (
(
(
(
(

i) The Elements of Administration
ii)  Economy and Society

iii)  The Bureaucratic Phenomenon
i Bureaucracy

=

i

1
i)

11

&

(A)  @Gv) () (i)
B @ @) ()
© @ 0

O @) () 6

—
=
<
~
~
=
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

IR B STtk G b1 @ B ©

(A) HfgEm (B) EE © S (D) EHE q41 T < faemauea
S STk de’ Tagra 1 gfadre ferem forar ?

(A) TriseTE Fea B TW T (O TR ST (D) =T st
A IR Gfaam H €

(A) 395 ¥R qe 9 STgfEr (B) 395 ¥RIE qen 12 STt

© 372 ymid qen 12 st (D) 370 ¥R qen 7 srgfear

frfafad YRdr Tt I ST 901 o HIAHd § sFateed &1 :

L TRy I 37y e m o9« V. Ammeive
e

@A) 1 I m v B 1 I IV I

© o 1 m v O) m I I\ |

TS ! AT Gl ramem 1 G € :

(A) =i e (B) faftrsemw © sHvEfedgE (D) el-hiamwRmer
Frrofer =6t wfzpen # o formmen = gfgman yrey wd swo fafafml 6 afmfad fwan g st am @

(A) =S (B) I T © TREE™ (D) "R AE
it JemEE H GUR W e Ifafa 1968, % yfaded s Ty T s a e ow &

(A) (B) AT © dHgETEsEfe (D) gave
Frefafad o @ frgs ofbed o Ige Tehemel R 4 IR & fa=R foee gmd Thwme & g d e € 2
(A)  srss s FrafE B) st 5 Frn s e

Q  oTEdH aifeehrTo (D) deherent foRIo=l 1 JaTgHA

TR HEE T STHM T Tef ot © -

(A) T TwTa forg T oF Tl JTEEE 1 alem

(B) 1 W& o ¢ o1 o HansT WA 5 Seval § AT Suered o TE off 3 WA foreh ot ek femn
RRISE RS ERIRIC])

©  ETE I g H et e S e e
(D)  TeE H G Ta fHaeafad @ & aR H Sehfeaes Afaal & g
SR T 1 Aed o < H gen SHH A ©

© @ O @)
@) @) @) 6

i)

ii)

(A) (B) e © zwive (D) wgw T eTfEm
-1 o1 - 11 & gaferd sifs qen 9 e T e o1 7= = 96l S| g
T - 1 g - 11
@@ TR () < elEes sifw Tefafteem
(b) T 3few (i) T TUS HEEe
(© T Terst (iii) & HTEH A
(d)  TTERe HBISTER (iv) =S
R @ B © @
@A) () @) G @)
® @ G [ )
(
(
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38.

39.

40.

41.

42,

43.

44.

45.

Match List I with List II, by using the codes given below :

List-1 List-1II
(@ Human Relations Theory @) F.W. Taylor
(b)  Theory of Scientific Management (i) Elton Mayo
(c)  Decision Making Theory (iii) Karl Deutseh
(d) Communication Theory (iv) HerbertSimon

Code: @ ® © @

@) @ @ G (W)
® @) @ Gv) (i)
© @) @ 6 W)
© v @O @) ()

Arrange the following approaches in study of Public Administration in order in which they appeared.
Use the code given below :

L Classical Approach IL. Behavioural Approach

III.  Policy Approach IV.  Human Relations Approach
Code:

@A I m v I ® I v I m

© v m I I D) I I m v

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).

Assertion (A): E - governance has facilitated good governance
Reason (R): Transparency as virtue of good governance can be ensured through E-governance
alone.

In the context of two statements, which one of the following is correct ?

(A)  Both (A)and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
©  (A)istruebut (R)is false

(D) (A)isfalse but (R)is true

The theory of * Trading State’ is associated with :
(A)  AdamSmith (B) Lenin (©  Rosecrance (D)  Robert-cox

The national interest of master class is the basis of :
(A)  Realist theory (B)  Marxist theory
(©  Dependency theory (D)  Neo -realist theory

Breghnev advocated the doctrine of :
(A)  Limited Sovereignty (B)  Absolute Sovereignty
(©  Popular Sovereignty (D)  Defacto Sovereignty

The new member states of BIMSTE Care:
(A) Nepal and Bhutan (B) Nepal and Pakistan
(©  Bhutan and Afghanistan (D) Nepal and Laos

India’s nuclear doctrine is based on :
(A)  Credible minimum deterrence (B)  Nuclear Proliferation
(©  Mutually assured destruction (D)  First use strategy

J—0205 12



38.

39.

40.

41.

42.

43.

44.

45.

-1 o1 - 11 & gaferd it qen 9 e T e o 7= = 96l S| g

qA - 1 g - 11
(a) Wa ey fagm () TR TN
b) T vEyER (i) oA A
(€ i ke e (iii) el =R
d g e (iv) T |
e @ ® © @

A O @@
® @ @O
© @) @G @ ()
O) (@Gv) @ @) (D)
ek YR o 319 | TeAifohd SUTTHT Rl o eTifavia (faeshm) & 0 § =rafied Hifag :
L I AN . SEeRARIzIT™ I FAfdsarm V. AW 969y U

ii)  (iv)
iv)  (iii)
i

i
i

e
A I I v I B I v I m
© v I I I O 1 I m v

= < e fau T €, T FUA (A) 791 T WY (R) 7| Frefated g § @ w6 s g |
HAT(A): 3. T 7 A H AN FIRA R T
HEOT(R): A % T 701 3 ®9 H IR 1 Shelet A 5. To-0 & WIeAm § g Sferd fohan s g €1
FE: (A)  (A) T (R) IFFE E T (R), (A) i Wel A€ |

(B) (A)TH (R) 3 T § g (R), (A) M T AN TR © |

©  (A) T E TR (R) T &

D) (A)Tem g ey (R) w2
R H Her T4 o1 Tagid ‘< forad sife ofen e & fhae gaia § 2
(A) e fEy (B) «fE ©  Th D) T He
wart-at o TP fed fore fagT= o1 sTTem & 2
INICRIPEICR S EAR| (B) wEEaR! AT
©Q  Trofn fagr (D) Ta-aenefars fagr
si5e  ToRe a1 ot aehTerd hi off ?
(A)  HifEd Ty (B) THEGEW (O T AEW (D) o gy
BIMSTE C% TdH 9= T :

(A) U A A (B)  urer qT W&
Q) Y[ AUl TR (D)  UTe qer e

IRA 1 SA0aeh [HET fohe T STea © ?

(A TovagHr =gAaw gfay (B)  eUIfereh YER

© Rl gHfvEa faam (D) W™ TN WHITT
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46.  Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Choose the correct answer from the codes given below :
Assertion (A): Environmentis a global problem
Reason (R): “Earth Summit” has addressed the issues
(A)  Both (A)and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
©  (A)istruebut (R)is false
(D) (A)isfalse but (R)is true

47.  Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Choose the correct answer from the codes given below :

Assertion (A): United Nations provides for the collective security of the member states

Reason (R): States make their own arrangements for their security by entering into collective
defence agreements

Code:

(A)  Both (A)and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A)and (R) are true, but (R) is not the correct explanation of (A)
©  (A)istruebut (R)is false

(D) (A)isfalse but (R)is true

48.  Identify the correct chronological order of the following who held the office of Secretary General of

the United Nations.

I Kurt Waldhiem II Dag Hammarskjold
I U Thant v Butros Butros Ghali
Code:

A4 1 m I v (B) I v I I

© I I I v O 1 I v m

49.  Match List I with List Il and select the correct answer from the codes given below :
List-1 List-1II

(@  Territorial Waters @) Exploitation of resources upto 200 nautical miles
) Exclusive Economic Zone (i)  Exploitation of sea bed

(©  Continental Shelf (iii) Sovereignty

(d) International Waters (iv)  Waters beyond state boundary

Code: @ ®m (o (d)

@A) @) @) o (v) (i)
®) G ) @) (i)
© G @ G (v)
O v G @ @)

50.  Match List I with List Il and select the correct answer from the codes given below :

List-1 List-1I

(@)  Wilson doctrine @) Support to free people

) Carter doctrine (i) Supportto allies

(9  Nixondoctrine (iii) hegemony over Persian Gulf

d Truman doctrine (iv) Interventionist policies

Code: @ @M (o (d)
@ @ @ O
® ) (i) @)
© @ @ @
© @ @ O

-00o0-
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46.

47.

48.

49.

50.

= <1 e fau T €, T FUA (A) 91 T WY (R) 7| Frefated g § @ w6 s g |
HYT(A): TR T fqvaeaTd g § |
HAOT(R): o1 Witwe” ¥ 56 98 o1 == ol TR |
HE: (A) Tl (A) SR (R) FEE A4 (R), (A) F el AT
(B) 3 (A) 2R (R) W& § T (R), (A) F Tl AN TE © |
©  (A) T T (R) oI &
D) (A) T g (R) HE T
= < e fU T €, T FU (A) T THT FRO (R) T1 A U T Fe H F wE SR |
HIT(A):  HID TP T S T o T rfeeh TReT Sqeres i & |
®RUT(R):  Hrfesh geen wedfa gr fafys T gean & fog @& e & € |
HE: (A) Tl (A) SR (R) T E A4 (R), (A) F el AT
(B) 3 (A) 2R (R) & § T (R), (A) F Tl AT © |
© (A) wEIE TG (R) T E |
D)  (A) e §, 7] (R) HT
Frefafed safwal i, ST 5N IAEeE I & Fal Hidel Sl I8 YT F o hIeTIHA § Fareed i |

I FeaweH I o eAwiee I 3-9i IV. S o™ =t
e
@A) 1 m o v B m v I 1l
© o m I 1\Y D) 1 I IV I
-1 1 G- 11 % W Wt ferend den =i fo e e & wet SR
T - 1 g - 11
@ &S () 200 TG Hic GHEET A T
b) o et S (i)  HEE HE F WA
()  TERea ATk (i) Ty
d swEE S (iv) T5F %l | o 9L 1 S
% @ ® © @
(@A) @) @ @) (i)
®B) G Gv) @O (i)
© G @ G @)
O) () @) @) ()
-1 1 G- 11 3 |1 Aot forend qen <t o e el # 9 Tt s
T - 1 g - 11
() Tooua fag () s An R HHeA
(b) R fEe= (i) T o Eweds
© Tt (i) A Ere W st
(d) A fesr (v) TR it
% @ ® © @
@) @@ @) @ ()
B) Gv) @) () @
© @O @ (v) (i)
O G Gv) @O (i)

-00o0-
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Space For Rough Work
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